Test 1 (Unit 1 and Unit 2)

Question 1.
Simplify.
V200
A. 10v2
B. 20410
c. 20
p. 100vZ
Question 2 .
3
Which equation correctly shows that (z%)° = z12y
A (2% = (£9)(23) = ol2
B. (£4)3= (oWt =2z -z v-2-52-7 2z -7 -2 -5 -7 75 = zgl2
c. (z%)° = 3(az) = 122 = 212
D. (x4)3 = 3z% = z% 4 4 4 4 = 12
Question 3.
Four expressions are shown below.
5 T
Bv bzl 7 B
Which inequality comparing two of the expressions is true when 0.2 < x < 0.6?
A. % > b2
5
B. 5T > o
T 5
C. 5 = Iz
D. 5 > bz?
Question 4.

An expression is shown below.

5v33z
Which value of x makes the expression equivalent to 15v33 ?

45

O 6o w »
©

225
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Question 5.

Question 6 .

Question 7 .

Question 8 .

Look at the three monomials below.

18x3 y‘ﬂ’z3

A. 6xy32
B. 90x3°%2°
C. 90x*8s5
D. 6xy

Simplify: 47 + 263

A 18T
B. 10v7
C. 40V7
D. 6V7
Simplify.
A AT
B. 14V7
c. 492
b. V2

What is the greatest common factor (GCF) of the monomials shown above?

A 1544
B. 244
C. 154x7)8
D. )3y

14x3y4

30xy3z2

What is the least common multiple (LCM) of the monomials shown above?

22544
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Question 9.

Simplify the following expression.

g3 . g3
A 720

B. T72°

c. %29

D. 8(9%)

Question 10 .
Evaluate the following expression when n = 3.
In-7]-14-n|
A. -5
B. -3
C. 4
D. 3
Question 11.
Solve the following.
VIZ x3V3 = 7
A 8
B. 3V18
c. ©
p. °
Question 12 ..
Two monomials are shown.
240536 4,3005%¢3

What is the least common multiple (LCM) of these monomials?

A. 120st
B. 120538

C. 840040
D. 840057
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Question 13 .

Select the correct symbol.

A <
B. >
C. =

Question 14 .
The greatest common factor (GCF) of x*Ky3 and x%yX is x°y2. What is the value of k?
A 1
B. 2
C. 6
D. 20
Question 15 .
Simplify.
VB3
A T3
B. 37
C. 21V3
D. T
Question 16 .

4243 30333 BxOA

What is the greatest common factor (GCF) of the monomials shown above?

A. 21OX12y10

B. 6 X5y4
C. 6 X3y3
D.  210x5y*
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Question 17 .

An expression is shown below.

VOlx
For which value of x should the expression be further simplified?

O o w »
x
]
>

Question 18 .
Which of the following inequalities is true for all real values of x?
A 4/z? < §
B. (3z)° € 42
c. 4(s? -3) < 3(s2 - 9
D. 4z < 42
Question 19 .
Simplify.
V1,584
A. 223
B. 264V3
c. 144Vl
D. 1211
Question 20 .
axty3z  aaxtyPrA
What is the greatest common factor (GCF) of the monomials shown above?
A 4xty2z
B.  4xhy3
C. a4xty3A
D.  44x8,525
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Question 21 .

Select the correct symbol.

V38 ?

e

A <

B. =

C. >

Question 22 .
Evaluate the following expression for z = 257
T4 8z — 1
A 240
B 127
c. 135
b 143
Question 23 .

Order the following list of numbers from least to greatest.

49 5 29
?,9.8,§m
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Answers
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